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General Instructions :
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(i)

(i)
(iii)

(iv) .

(v)

This queétion—paper consists of 30 questions which are divided into Ithree
Sections : 'A' (Physics), 'B' (Chemistry) and 'C' (Life Science).

All questions are compulsory.
Marks for each question are indicated against it.

Your answer should be precise and to the point according to the marks.
Answer the multiple choice questions by selecting correct option.

Internal choice has been provided in all long answer type questions (Question
Nos.-11, 21 & 30) of 5 marks. You have to attempt only one of the given

\ choice in such questions.
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SECTION — A
(At Fs)
(PHYSICS)
1.»i%lﬂﬂmw#§rzr@ﬁ‘m€5r€mu%,zﬁrﬁaﬁwaw?ﬂ - Co
(A)  (muy? . - (B) mv?
(C) (%)mvz ¥ h (D) mv

What is the momentum of an object of mas_s' m, moving.wi'th a velocity v ?

(A) )« d i (B) mv?
(C) [-;-}m_ug (> mv
2. sﬁmﬁﬁaﬁ(md)wﬂmﬁﬁmmﬁﬁwmﬂ@w%? | ;o 1
(A). e . (B) emquEtE i
(€) weEhE (D) R
What kind of waves are used in-echocardiography (ECG) technique ?
(%) Ultrasonic "k "B Sabieric &
(C) Isosonic | (D). Supersonic

3. T I HEG HT S 7

What is the unit of speed ?

The value of the acceleration due to gravity of the earth isl

3105 P.TuO.
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T (A) : o TR T R B N

T (R): ST M Y, wad o A 3, P e am: TR g we
(A) (A) T (R) I & & & (R), (A)a‘a’raﬁraqm%ll |

(B) (A) T (R) & & ¥, W (R), (A)_ﬁﬂé’lwﬁ%z--

© ® &Y YR FEEY

(D) -(A) 376 B, W] (R) &d 1. .

This question below consists of two statements : Assertion (A) and Reason (R),

answer the question by selecting the appropriate option given below :
Assertion (A) : A moving object always does work.

Reason (R): The object which is in motion possess energy which we

' 'gefierally cal}ed kinetic energy.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

3105

1

(B7 ‘Both (A) and (R) are trﬁe,l bu__t (R) is not the correct explanation of (A).
(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Pl 3 1 ST T & o W o, ol s B w2 .

Explain why some of the leaves may get detached from a tree if we vigorously

shake jts branch ?
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A freely falling object eventually stops on reaching the ground. What h‘appens to

its kinetic energy ?

ToeB T 1 W s 2

State the universal law of gravitation.

Rl R W 3% W W 98 M F fauda R F 6 ms? # @RT I B &1 aR FW
5 T T & A wR A 25 7w A0 R, A I A A w gl B
; ' ' L ' 5

The brakes appliea to a car produce an acceleration of 6 ms™2 in the opposite

direction 'to the métiori. If the car takes 2 s to stop after the application of brakes,

calcﬁlafe' the distance it travels during this time.

Y4l

OR

ﬁ%WW'@qﬁﬁlﬁHé\Tﬂ'SsﬁIIS'kmh*l@[36'kmh“1.3|7°[‘1ﬁ-[m’~?fﬂﬂﬁ%l
T B ¢ (i) W@ (i) I GG ¥ B b B T BB QU 3

A car accelerates uniformly from 18 kmh™ to 36 krhh“I in 5 s. Calculate : (i) the

acceleration (ii) the distance covered by the car in that time.

P, TVO.
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10. fret &fy @ ¢ () TR (i) STEN (iii) oM § T o T 7 3

What are : (i) wavelength (ii) frequency (iii).amplitude of a sound wave ?

11. () T 9T H T 7 g 7 - -

3105

(b)

(@)

(b)

What is the acceleration of free fall ?

19.6 m Sl G AR F A F F TR Sl A 3 g | Ay ¥ e wwn
aife™ & w Fhm 3
A stone is released from the top of a tower of height 19.6 m. Calculate its
final velocity jus;cl before touching the ground ?

3t

OR
frelt awg & EerA ol A H T oY B 7 ' - | 2
What is the difference between the mass of an object and its weight ?-
ﬁﬂﬂﬂﬁﬂﬁﬁﬂﬁﬂﬂﬁﬂﬂﬁ%%%éﬂﬁﬁﬁ%? ' 3

Why is the weight of an object.on the moon -;—)th its weight on earth ?
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SECTION - B
(T o)
(CHEMISTRY)
12. @ fafre sl & w9 & @ & e w seamr &7 ' 1
(A) e | (B) faw
(€) e | (D) ST
What‘is the intermixing of particles of two different types of matter on their own
called? S
(A] Mixture : (B) Diffusion
(C) Compression | (D) All of the above
13. TEXHE H ATH FO THON TAT R @ & ol Saerh o ? 8
(A) T P
(B) Fr
(cj e
(D) =g

Rutherford's alpha-particle = scattering experiment was reSpbnsible for the

discovery of :

¢ Atomic Nucleus
(B) Electron

(C) Proton

(D) Neutron

3 .
105 P.T.0



14.

15.

16.
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FEARE § FH TN R &G D 99§ gRafiq & g H R Fed € 7 1

What i1s the phenomenon of change in liquid into vapours at any temperature

below its boiling point called ?

ERERRG: I fysror 21 1
A sﬁépension I B e mixture.
AN H @ B9 T : e (A) ofR &R (R), nsﬂ%fn%ﬁavaaqgﬂﬁﬁmm

ERE LG lcy Rl | . 1
AR (A) : AT B g &9 § S 29 ¥

FRT (R) : Wﬁaﬁ?%@%mmaﬁﬁaﬁﬁ%

) & a (R) 3 T ¥ . (R), (A) P e e B

(B) (A) 9 (R) 3FI & 8, WY {'R)', (A)Ii-hhf el e e %u
©) (A) & ¥, W (R) o I |
(D) (A) 3T &, T (R) T &l

This question below consists of two statements : Assertion (A) and Reason (R),

answer fhe question by selecting the apprqpriate option given below :
Assertion (A) : lons are always positively charged.

Reason (R): Ions aré formed by losing or gaining of electrons.

(A) Both (A) and (RI) are true-and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
() '{A} is true, but (R) is false.

(B] (A) is false, but (R) is true,
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18.

19.

20.
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TH, g% & § Her o Iver R’ ey ¥ ? |

Why does a desert cooler cool better on a hot dry day ?

AR T oz=4 A, W T A G A A 2w oA f R 2

If z= 4, what would be the valency of the element ? Also name the element.

HYAr

OR
Na' % I8 @ & W g0 K 9 L F9 87 ¥ e it
Na' has completely filled K and L she'lzi;s. Explain.
Aife T TEEE e § e HiEd SR & B
Differentiate between physical and chemical changes with é‘xaniplels,.

YT

OR
fercra, fefe o Fiamss u-ga A fha SR B ¥ 7 3
How are sol, solution and suspension different from each pthér 7

=1 @t iy =ik

() IRAY] EE g

(i) e HE

(i) Rex SR @ Frm

P. T 0.
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Explain the following :
(i) Atomic mass unit
(i) Law of conservation of mass

(iii) Law of ‘constant proportions:

=1 # g3 foafag.

() T sFEs
(i) g wiEe
(iii) QeI GeHES

(iv) Fifeer gt

(v) Wead FEHe

Write the chemical formulas for the following :

(i) Sodium oxidé

(ii) Aluminium chloride
(iii) Sodium sulphide

(iv) Magnesium hydroxide

(v) Sodium carbonate

3105
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OR

Freifafaa @i & SeRia Attt & 9 ffao | | 5
Write down the names of compounds represented by the following formulae 3 |
(i) Al2(SO4)3

(i) CaCla

(i) K2SO4 -

(iv) KNO3
(V) CaCOs
s -9
SECTION-C
 (Shr fer)
(LIFE SCIENCE)

B F o< MEM FqweT Fel & & 7 ' )
) - R |
(B) wrermitgar

(C) Tl siqda Hferdr
(D) et sicE= S

P. T: O.
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Where are prbteins syntﬁésized inside the cell ?
(A) Plastids

(B) Mitochondria

() Rough Endoplasmic Reticulum

(D) Smooth Endoplasmic Reticulum

23.Wwﬁwﬁﬁﬁ.m%m'ﬁaﬁﬁ%§ﬂq@%? . 1
(A) A& ofehE
(B) s T
(©) gu @her
(D) ERITHEA
What is important tol protect plants from water loss in dry places ?
() Thick epidermis
(B) Large cavities
(C) Open stomata
(D) Sclerenchyma
54, et 1 T B S 0 A B 7 - o
Which tissue makes up the husk of coconut ?. )

3105
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25. U%H STH-HEE ..oovnnnnnnnnnn . F AN AY I F oW B R B s 2 1

An Italian-bee .....rc.cv.....:.. has been brought into increase yield of honey.

26. T U9 H @?EHEF{%:W(A)IWW.(R),HQW%%W@WWH

W(Almﬁﬂw | ‘ZIFRﬁ aarrﬁm, BT T &% B F B R o
T (R) T S ar e 9 T o b
(A (AT (R) &9 & &'qr (R), (Ai o aé’raxrw 2l

(B) (&) 7 (R) I T Y, Y (R), (A) # W& =wem & ¥

© () T ¥, g (R) o

D () o ¥, g ) w B

Thié question };)CIOW consistsl of two statements : Assertion (A) and Reason (R),
answer the question by selecting tﬁe appropriate optiOp._givenlbe_low :
Assertion (A) : G(;;lg_i bodies stores, modify and pack products in vesicles,
Reason (R):  They are involved in the formatiOn of lysosomes.

(A) Both (A) and (R) are true and (R) is'the correct explanation of (A).

4B) Both (A) and (R) .are- true, but (R) is not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

PARE L | P.T.0.
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28.

29.

30.
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(a) Wﬁﬁﬁz%%ﬂaﬁawzﬁrﬁq’rﬂrm%
(b) T ot qet A Ao B IR FA
Name the following : |
(a) Tissue that forms the inner lining of our mouth.

(b) Tissue that transports food in plants.
HAYAr
OR

Draw a well labelled diagram of neuron.

Differentiate between parenchyma, collenchyma and sclerenchyma on the basis

of their cell-wall. =

7o G 7 ¥ oA T 7E A T A ¥ 2 .

What. are macro-nutrients ahd why are they called macro-nutrients ?

(a) HIH B @ e B 7 | - 3
Who diécovered cell ? |

(b) R B ST H FEA BT A e ¥ 7 | 5
Why is fhe cell called the structural and functional unit of life ?

o) o R @ i o R i owe ¥ 7 :

Why is the plasma membrane called a selectively permeable membran.e ?
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YT |

OR

(2) T T ST 1 AW gy RrEw ST STgais qared e ¥
| Name one organelle that contain its own genetic material.
(b) S & oo ¥ A ww ¥

Why are lysosonies known as suicide bdgs ?
(c) ST ST o F U FA &

How does an Amoeba obtain itsfood ?
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